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QUESTION 1

Which three statements are true about Transport Zone? (Choose three.)

A. it defines the VXLAN tunnel endpoint (VTEP) members of the VXLAN overlay.

B. It controls the hosts that a logical switch can reach and can span one or more vSphere clusters.

C. It is a solution of ESXi hosts that can communicate with each other across a physical network infrastructure.
D. it extends across one or more ESXi clusters and commonly defines a span of a logical switch.

E. it does not dictate the clusters and virtual machines within the clusters in a particular network.

Correct Answer: BDE

QUESTION 2

Which service of VMware Integrated OpenStack has the ability to communicate with VMware NSX Controller, create
logical switches and routers, and add new NSX virtual machines on demand?

A. Neutron
B. Proton
C. Glance
D. Nova

Correct Answer: A

QUESTION 3

What is the default TCP port through which the Layer 2 VPN client makes an outgoing connection request in the Layer 2
VPN tunnel architecture?

A. 443
B. 843
C. 440
D. 401

Correct Answer: A

QUESTION 4

Which component of NSX logical firewall, offered by the NSX Edge Services Gateway (ESG), focuses on North-South
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traffic enforcement perimeter or tenant pen meter?
A. Distributed firewall

B. Centralized NSX Edge firewall

C. NSX controller cluster

D. Distributed logical router

Correct Answer: A

QUESTION 5

What are three common problems for administrators when managing application with network security models that are
not virtualized? (Choose three.)

A. Lack of Interoperability and automation creates error-prone manual work.

B. Integration of third-party security products with home products is not possible.
C. Deploying and managing third-party security products become difficult.

D. Load balancing by vMotion is not possible.

E. There is limited visibility into a workload\\'s security posture and policies.

Correct Answer: ACE
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